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U57 – 6BZ_1049s 
IC50= 0.011±0.001 μM  

U57 – 6BZ_1072 
IC50= 2.27±0.10 μM  

U57 – 6BZ_1063 
IC50= 7.88±0.48 μM  

U57 – 6BZ_1058 
IC50= 36.5±2.8 μM  

U57 – 6BZ_1038 
IC50= 0.324±0.039 μM  

U57 – 6BZ_1084 
IC50= 0.137±0.005 μM  

U11 – 6BZ_1073 
IC50= 0.810±0.174 μM  

U11 – 6BZ_1056 
IC50= 4.65±0.23 μM  

U54 – 6BZ_1193 
IC50= 5.01±1.54 μM  

U54 – 6BZ_1086s 
IC50= 3.86±0.48 μM  

U48 – 6BZ_1057 
IC50= 0.074±0.013 μM  

U39 – 6BZ_107s 
IC50= 4.21±0.87 μM  

U14 – 6BZ_1025 
IC50= 2.39±0.16 μM  

U31 – 6BZ_113 
IC50= 0.037±0.001 μM  

HA 
IC50= 0.061±0.001 μM  

CLIP 
IC50= 0.127±0.007 μM  


